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SECTION -1 : General Awarenéss

Ql

I - 1: AGIS WRINISH (WH AIIgI")

The layer acts as an Q]

invisible shield and protects us from
harmful ultraviolet (UV) radiation
from the sun.

(A) nitrogen

(B) argon

(C) ozone

(D) methane

Under which of the following
articles of the Constitution of India
does the Supreme court have the
power to issue a writ for the
enforcement of fundamental rights
of a citizen?

(A) Article 13

(B) Article 14

(C) Article 21

(D) Article 32

Q2

Which of the following articles of Q3

the Constitution of India directs

states  to ‘organize  village
panchayats and endow them with
power’?

(A) Article 32

(B) Article 36

(C) Article 38

(D) Article 40
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dH gl I W3 AG HIA 3w I
Jolage ugedret fagst  (uv) 3
gogel I

(A)  TEHS
(B) WIS
() 6&us

(D) HEs

Js fefawt & 33t Afeas © fan
WoBT 3fJ3 ANSH ddc I Jdfdd

e Higa wiffsrg™ § 891 a96 BE i
fde Adt 396 T wfadg I7?

(A) WSBT 13

(B) W&BT 1L

(C) W&BT 21

(D) WEBT 32

I3 Afeas e I i T fagzT
g9 W3 §Iot & HASt B © foIeH
fder 37

(A) WSBT 32

(B) W&BT 36

(C) WSBT 38

(D) WSBT 40




Q4

Q5

Q6

#

Where is Partition Museum located ()4

in Punjab?

(A) Ludhiana
(B) Patiala

(C) Chandigarh

(D)  Amritsar

Which Punjabi Singer sang the Q5

popular song "Jai ho"?
(A)  Sukhwinder Singh
(B)  Arijit Singh

(C)  Gurdas Maan

(D)  Sardool Sikander

Which ~ scheme by

government will provide the jobless

individuals to get subsidy on

purchase of 3/4 wheeler vehicles for

self employment?

(A)  Ghar Ghar Rozgar Scheme

(B) Apni Gaddi Apna Rozgar
Scheme

(C)  Punjab Chief  Minister
Scholarship Scheme

(D) Mera Kam Mera Abhiman

Scheme
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Punjab Q6

Afa3 37

(A) BT

(B)  ufewrsr

(C) dTINF

(D) ifif3Ag

HAgsg M3 A I § fet &Y faA
Urret grfes & arfemr?

(A) wEfEEg iy

(B) wifgvis fHw

(C) JIBEHHS
(D) HITH fAsed

e Agerd ©F (I3t ASH 998ard
fonwadit & AL JEErT € BE 3 7 4
U Trgst € Hdle a96 3 AT
féet 37

(A) WI WI IFErT HalH
(B)  WUEt IiF WUET Irara HaTH

(c) Uny e fHfsres Aaraafiy
HAH

(D) NI IH AI" MfSHS AAH
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Q7  Which of the following disease is Q7 fogt &Y fagdt fanudt €8 € I9%

caused by fungi? It 37
(A) Ring Worm (A) T
(B)  Cholera (B) I
(C)  Tuberculosis (c) 3ufex
(D) Covid-19 ‘ (D) JfE3-19
Q8 * In Laws of reflection of light, the Q8 yaH ¥ ud<dss © foud fg,
angle of incidence is equal . wFide _ © =I=I I I
(A) to the angle of incident ray (A) WUt fags e ds
(B) tothe angle of plane - (B) 3BT
(C) to the angle of reflection (C) YI=I3sede
(D) to the angle of refraction (D) "WURIISTIE

Q9  Waste that decays naturally andina Q9 €9 Ifde-dge #A eI 33 ‘3

way that is not harmful to the fewfes It I w3 for 391d &8 B9
environment is called B IIede BY SEAGETET &JI I,
‘ (A) green waste % S e 97
(A)  ds eHAC
(B) recycled waste (&) She
(C)  blue waste , () =fsg3me
. (D) soil waste (D) Rfts AT
Q10 Who found the literary club, Q10 WUz IBY WrlG-8-UA" T AEUS
Anjuman-i-Punjab? fTAS S3t?
(A) Dr Gottlieb Wilhelm Leitner (A) T Jefey fesar feeag

(B) Raja Harbans Singh
(C)  Rai Mul Singh
(D)  Gurmukh Singh

(B) IA gI=A fiw
(c) TIeys fily

(D) JEHE iy
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Q11

Q12

Q13

Ql4

i

Which Sikh Guru introduced Anand Q11
Karaj - which was a special kind of

marriage ceremony?

(A) Guru Angad

(B)  Guru Amar Das
(C)  Guru Hargobind
(D)  Guru Har Krishan

The most essential operation for Q12
making the soil loose and porous to
a desired depth as per requirement

of the crop is

(A) Clod crushing
(B) Ploughing

(C) Harrowing

(D) Manure mixing

is the birthplace of Q13
Khalsa, a way of identifying or

differentiating the Sikhs.

(A) Takht Sri Damdama Sahib
(B)  Fatehgarh Sahib

(C)  Dukh Nivaran Sahib

(D)  Takht Keshgarh Sahib ‘

Which festival of Punjab

is Ql4

celebrated with a special bonfire?

(A) Lohri

(B) Teeyan

(C) Chappar Mela
(D)  Guruparab

foam fid I & wide 97 7Y &i3- A

fa f feim Yara <t forg € IAH Al?
(A) I wiare At

(B) 7l I wiHIeH Hf

(C) I Ifgdfde 7t

(D) ¥ Ig IfSfeme it

SAS ©F Tg93 womd Het § Bt
S RS IS AN Ji

(A) 38 fHOE" (Clod crushing)

(B) IB TP (Ploughing)

(C) 3<Mf 23" (Harrowing)

(D) §§’T gye fHgge  (Manure
mixing)

iyt & ufgere A udl Ufgoe,

HSBH B AGH ZH 1

(A) 33 H eHeH Afg"

(B) ef3garg Afas

(c) oo fsegsAfag

(D) IH3 AFIF Afa=

Uare © faggr 3699 uA SaF <

Il S8  Heen AT 2

(A)  BIF

(B) It

(C) BUIT HE

(D) JBUEY

————————————————————

PAPER-4 SERIES-DB

[6]



Q15 A Joint Military Exercise named Q15 393 W3 fegag 8 AT

“Yudh Abhyas 20217 was held Aer wfsA  oim wfswH 20217
between India and : Wifa3 Jt3T famir A
(A) Russia (A) gH
(B)  Israel (B) forAgfs
(C)  Australia | (C) wWHSISMr
(D) USA © wame
Q16 Punjab means aland of . Ql6 YmAgEwgg__ SISt
(A) 10rivers (A) 10 efagnret
(B) 6 rivers | (B) 6 Tfgnret
(C)  Srivers (C) 5 <fawe
(D)  8rivers (D) 8 Efgmret
Q17 Which two crops are the maximum Q17 ay &9 fagd € gAs’ & A3 3
cultivated crops in Punjab? <g 93t i3t At 97
‘ (A) Wheat-Rice (A) TEI-B&T
(B) Bazra-Maize (B) EwgT-Hell
(C) Rice-Maize (C) B -Hat
(D) Rice-Bazra | (D) V& -gTHI
Q18 Who along with Batukeshwar Dutt Q18 #Acgs wAsst &9 ScBHed ©3 ©
threw bomb in central assembly? &% faAS =9 Afewr?
(A) Rajguru (A) ITE
(B) Bhagat Singh ' (B) I3 iy
« (C)  Sukhdev (C) HETR
(D) Lala Rajpat Rai (D) T IAYI T

M
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Q19

Q20

Q21

M

The Chairpersons of the Panchayat

at intermediate and district level are:

(A) directly elected by people

(B) elected by the panchayat
members '

(C) elected by the legislative
assembly of the State

(D) nominated by the Governor

A is a court’s ‘order

commanding an inferior court or

public authority to perform an

official duty correctly.

(A)  Writ of Mandamus

(B)  Writ of Quo-Warranto "

(C)  Writ of Habeas Corpus

(D)  Writ of Prohibition

Which of the following fundamental

rights is NOT included in Article 19

of the Constitution of India? |

(A) Right to freedom of speech
and expression

(B) Right to form associations or
unions

(C) Right to practice any
profession, occupation, trade
or business

(D) Right to freedom of thought,

belief and religion

PAPER-4 SERIES-DB

Q19

Q20

Q21

HoegSt w3 fAgr dog '3 dorfes ©
NIUIAS |

(A) O 3a EBraT 98 A I6
(B) Uofez AEgt TprdT OB He

Is

(C) oI feos A3 TWIT I8 HAc
I&

(D) TJHYUS TWI dHEE di3 A
IJ5

_ wWE®3 © OJBH JE I A
Joo wesz A ygfed waEfgdt §
At 391 &8 wifterg3 38 a9 &
wen féer Ji

(A) H3HA T fae

(B) fag-zde=fae

(c) Jewr AIuA < fae

(D) W& Tl fae

FI3t Hfeas @ MEeT 19 K9 AHg
&5t I&?

(A)  IBE W3 YFIe™ € AB3I3T T

wigarg

(B) 16 7 Gomis’ gETgE T
wigarg

(c) foA A, &3, =ug 7 adgd
36 T wiada

(D) fegg, femew W3 OId <
e e Wiadg

[8]



Q22 Punjab is bordered by which Q22

country?
(A) Afghanistan
(B)  China

(C) Pakistan
(D) Tajikistan

Q23 According to 2011 census, what is (23
the population growth percentélge of
Punjab?

(A) 13.89%
(B) 15.14%
(C) 19.76%
(D) 23.87%

Q24 Which of the following countries (24
has the most Sikh population?

(A) Canada

(B) Malaysia

(C) Cyprus

(D)  Saudi Arabia

Q25 Who among the following certifies Q25

whether a bill is a money bill or not?
(A) The Speaker

(B)  The President of India

(C)  The Prime minister of India

* (D) The Vice-president of India

U St A faA 2F &5 S9Et 97
(A)  WSMEA3™S

(B) d&

(C) ufsH3®

(D) IATIASS

AS 2011 ©F HISHABST © WoH'd,
UrArg & wreret @0 ©F YStassT &at
J?

(A) 13.89%
(B) 15.14%
(C) 19.76%

(D) 23.87%

fost &5 fam 2n &g iy war<l 79 3
frmer 2

(A) &I

(B)  HZHMIT

(c) wfougn

(D) WG wI"

3 g 3 s us s I 7 &2

(A) TdEg

(B) I3 T IHSIUS
(C) 93 T Ydas H3S
(D) II3 T QU-IHCIUS

#
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Q26

Which Punjabi folk dance, similar to

the more eminent Bhangra, is
performed by women?
(A) Jhumar
(B) Gidda
(C) Jaago
(D) Luddi

Q27 Which among the following
princely states is not a part of India
after partition in 19477
(A) Patiala
(B) Kapurthala
(C) Faridkot
(D) Bahawalpur

Q28 The Upper House i.e. Legislative
Council of Punjab was abolished on
Ist January
(A) 1947
(B) 1952
(C) 1961

(D) 1970

Q29 Where is the Annual three-day
Shaheedi Jor Mela held in Punjab?
(A) Gurudwara Hari Mandir

Sahib '
. (B) Gurdwara Fatehgarh Sahib

(C)  Gurudwara Baba Atal Sahib
(D)  Gurudwara Sehra Sahib

PAPER-4 SERIES-DB

A3

Q26

Q27

Q28

Q29

nI3t Twg A3 AT T fGIFT
Ut 8 &9, SI8 HEJI T °
S J7

(A) BH3

(B) fafor

(c) #at

(D) St

Jo S feg faodt oAz 1947 St
23 3 gmE 393 T fIA & 37
(A)  ufenrsr

(B) SYIEZ'

(C) gedieade

(D) HJI<TBUY

1 A&t S Budt AEs
&3 famir 7

(A) 1947

(B) 1952

(C) 1961

(D) 1970

NS a8 w3 &3 AT 97
(A)  JFema gfgrHes Afag
(B) J@ERrdT Sf379g Afa"
(C) JIBTHI g9 WIS A
(D) JIBERrT fRgar Afa"

[10]



Q30 Konark Sun temple is situated in Q30 degq FIA Heg &g Afas 3

(A) Madhya Pradesh
(B) Rajasthan

(C)  Arunachal Pradesh
(D) Odisha

Q31 Pattachitra art form is native to Q31

which of the following states?
(A) Odisha

(B) Assam

(C) Uttar Pradesh

(D)  Andhra Pradesh

Q32 Sand dunes are found in which part (32

of Punjab?

(A)  South East
(B)  North West
(C) North East
(D)  South West

Q33  World’s largest solar tree has been (33

installed in which state of India?
(A) Uttarakhand

(B) Assam

(C)  West Bengal

¢ (D) Rajasthan

PAPER-4 SERIES-DB

(A) HOoyew

(B) IHAES

(C) WIETS YSH

(D) &3

yefd3g a8 T ys Jat fefamt fed
faggr g J?

(A) &S
(B) WHH
(C) €33y=n
(D) wOI YySH

Urrg @ fon JA <o 33 © &g ue
e I&7

(A) THEYIH

(B) €33y

(C) €33ys

(D) THT UeH

BT T A 3 I ABI & (solar

tree) I3 © fqA IH K8 AEUI &I3T
famar J?

(A) €39Hz

(B) WHMH

(c) Ve €

(D) IHAES

[11]



Q34 Human heart has how many Q34 W&ET fos o fds ud Ig I9&?

chamber/s?
(A) 3
(A) 3
B
B) 2 (B) 2
© 1 @
(D) 4 (D) &

Q35 The Chief Election Commissioner Q35 393 € Hg T aHAss 3

of India can be removed from office THIT HIRH o It ue 3
only through the impeachment by Jerfanr 7 AEeT J
- (A) HAT
(A) Parliament
B) JHSIUI!
(B)  President (8)
~ (C)  Prime Minister (C) Yo H3dt
(D)  Supreme Court (D) HOIH dge
SECTION -2 : Quantitative Aptitude and FIr-2: HIITIHE W33
Numerical Skills ' At 3Ha g&g
Q36, A student multiplied a number by Q36 fig fefewgst & &g Aftmr & 11/5 €t
5/11 instead of 11/5. What is the g7 5/11 &% JE St3T A3 I
approximate percentage error in the JreaT 9 woBs3 YItH3 33t ot
calculation made? J?
(A 51% A BIE
(B) L2%

(B) 42%

(C) 79.3u%
(C)  79.34%

(D) 71.5%
(D) 71.5%

PAPER-4 SERIES-DB [12]



Q37 The given figure represents data Q37 I3t aret wrfg3t femrgein @ ifemr

obtained from a grouped frequency g TIAET AHIY 9993 &3 &
distribution giving test scores of TIH It J| feg wfgEt § 7e 3 S
examinees. What is this figure most U 3 faA &H &% Afenr 7er I7?
precisely known as? Test Scores
45 -
Test Scores bl
45 - 2 30
5 25 4
40 4 §
35 - £ 2]
2 30 10 -
§ 25 2 .
g 20 1 445 545 645 745 845 945 1045
w15 + Scores
10 '
5 - (A) Hot IS ISEY =CC
0 ki T T L] T 1 y 5
. 445 545 645 745 845 945 1045 (Cumulative frequency curve)
Scores

(B) 4" Y (Line graph)
(A) Cumulative frequency curve

(C) Iy fg3d (Box Plot)
(B) Line graph

O Box Pl (D) IdJg93" HIBH (Frequency
t
‘ © ox o Polygon)

(D)  Frequency Polygon
Q38 When a plot is sold for 218,700, the Q38 #< ffa ug< & 18,700 ‘3 =fonr

owner loses 15%. At what price A 3, 3t HES § 15% IS Jel I

must that plot be sold in order to 20% B8 YU3 3% B¢ gr feg fan
« gain 20%? Wy €3 2T grdier Ai?

(A)  Z20,400 (A) % 20,400

(B) 216,400 ' (B) 216,400

(C) 226,400 (c) Z26,L00

(D) X28,400 (D) % 28,400

——————————————————————
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Q39 Each side of a polygon is 2.9 cm in Q39 SIBH ©F IIX I@ ©fF JTE 2.9 cm

length and its perimeter is 17.4 cm.

How many sides does the polygon

have?

A) 4
B) 6
<o 7
D) 8

w3 feAeT UfgHy 17.4 cm I SIBH

i fddSht IEreT I&7?
(A) &4
(B) 6
(c) 7
(D) 8

Q40, The given bar graph shows the data Q40 I3 fam 579 J[e UnA 24-29 gefmf

of the expenses by three different
families A, B and C over five

different weekends.

#Family-A #Family-B » Family-C

%

WEEKEND 1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

What is the difference between the
expense of family C in the 4"

weekend and family B in 1%

. weekend?
(A) 450
(B) 250
(C) 200
(D) 100

T iz &g 35 9-'9 ufgeat A, B
W3 C TWI I3 Hafout T waar
TIrger J|

#Family-A uFamily-B = Family-C

=
=3
w

350

WEEKEND 1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

o8 g23 © w3 o ufgeg ¢ © 4I°

3 Ufgs Je3 e iz g ufgeg B ©
yI9 f&g ot Wiz I?

(A) 450

(B) 250

(C) 200

(D) 100
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Q41 The given bar graph shows the data Q41 237 fymr g9 J[e Un 24-3y gefm

of the expenses by three different
families A, B and C over five

different weekends.

#Family-A zFamily-B »Family-C

o
o

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5

In which of the following weekends
was the percentage of rise/fall in
expensed amount from the previous
weekends the maximum for family

B?

(A) 3" weekend

(B) 2" weekend

(C) 4" weekend

(D) 1* weekend

PAPER-4 SERIES-DB

T i3 &g 35 <9-39 ufgear A, B
W3 C TWI a3 Hafow & niaar
TIAge J|

#Family-A #Family-B =Family-C

forefsfyz &9 fagz 923 € i3 <o
yfged B Bd HIg &St gaH &9
Th/we & YESasz usd gefawr 2
w3 & wiad3H #t?

(A) IAISITI

(B) TAISITWI

(C) TEISITNI

(D) ufg& g3 T W3




Q42 What fraction is the shaded region?

Q43

A &1 ™
- 1/

@A) 2
B) =
© =
D) =

Ram works 20 hours in a week (43

(Monday to Friday). Last week he

13

worked - hours on Monday,
15

3 hours on Tuesday, 4 hours on

Wednesday, and g hours on

Thursday. How many hours did he

work on Friday?
A —
B) —
©

O —

PAPER-4 SERIES-DB

(A)

(B)

(C)

(D)

(Ay ==

Sfnrfs 99 @ B et 37

| w @ |un » o

IH ffg Ig3 (AHET 3 HEITI)
&g 20 W dH gger J| el I=3,
%wéawaﬁs"leﬂ'c‘sﬂaa@agfa?s
W2 JH Ji3m?

(B ==

). =

(D)



Q44 Shyam studies 3% hours daily, out

of which he spends 1% hour on
studying Mathematics. How much
time does he spend on studying
other subjects?
A 1 1—70 hours
(B) 2% hours
(C) 1 hours
D) 2 % hours

Q45, The average score of Shivani in 5
subjects is 53. Later on, it was found
that scores in one subject were read
as 41 instead of 51. Find the correct
average score of Shivani. |
(A) 53
(B) 63
(C) 55
D) 5l .

The sum of the digits of a two-digit

Q46

number is 8. The difference between
the original number and the number
obtained by reversing the digits is

18. The greater number is:

(A) 26
B 62
© 7
D) 53

Q44

Q45

Q46

A IFe 3~ W ygrd s9er I, fn
ﬁ%@am)«qs?%lﬁ?m@?
J1 89 I3 fefimr § uge ‘3 o m
BIrger J?

(A) 1R
(B) 2=uR
(c) 14
(D) 2z

5 fefimit 9 fireal @ WA wid 53
Io| gmie 39, fag Que & fHignr fa
fan g fen f9 3831 &8 51 § 11
yg fewr famm faedt @ At A3 il
fos I&7?

(A) 53
(B) 63
(C) 55
(D)  5i

e gt Hfimr @ wigt T A7 8 I UB
Hftmr @ fegerg wizg 18 JI 23T
Hfemr U3t I3

(A) 26

(B) 62
(c)y 71

(D) 53

#

PAPER-4 SERIES-DB
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Q47 By selling a table at ¥ 2600, a Q47 fix ¥ & T 2600 3T 29 &, fix

shopkeeper makes a profit of 30%. TEHGTT 30% © 8 NG J1 30%
At what price should he sell the S gt uGe BE GRd A & fam
table so as to make a loss of 30%? SH3 '3 FTT IIiTT A?
(A) %2000 (A) %2000
(B) %1400 (B) Z1L0O
(C) %2100 C) %2100
D) 1600
(D) %1600
Q48 How much time will it take for a Q48 2 1000 & i IH '3 yFt 7H 25%
sum of ¥ 1000 to give T 250 as moge fen '3 e =1 2 250 556
interest at 25% simple interest per &9 fd&r AHT Sdlar?
annum? (A) 27
(A) 2years . (B) 3A®
| (B) 3 years ) 17®
(C) 1year ol . GV

(D) 6 months
Q49 A and B can complete a work in 20 Q49 A W3 B f&q dH § 20 fea fSg ygr

days, B and C can complete the g9 AAE I6, B W3 C GA SN § 10
work in 10 days, and C and A can foat f<9 YT &9 Aee I6, W3 C W3
do the same work in 12 days. Find A €A a1 § 12 feat ST 99 AaR Jal
the time taken to complete the work, A A 38 fess g 3 o F98 I3,
if all three work together. 37 § Yo 96 <9 Bd AH T U3T
EE]
(A) 8days
(A) 8fes
(B) 6days
g (B) 6fes
(©) 3077 days (c) 3o/7fs
(D)  60/7 days i Gae R

o ——————
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Q50 A bank offered a unique loan to Q50 ffg S & w3 & 10 AS B fix

Q51

Abhay of 10 years, wherein the rate
of interest for the first 2 years is 8%,
that for the next 5 years is 12%, and
that for beyond 7 years is 15%. If
the amount that Abhay paid back to
the bank was 21,87,850 in total,

then the amount that he received as

loan was:

(A) Z95,000
(B) 85,000
(C) 84,560
(D) 93,000

The given figure represents data
obtained from a grouped frequency
distribution giving test scores of
examinees. Estimate the median

score of the distribution.

Test Scores
45 -

40
35 A
2 30 4
5 254
g 20 4
L 15 -
10 4
5 -
0 o ¥ T 1 T T hd
445 545 645 745 845 945 1045
Scores
(A) 745
B) 795
(C) 80.75
(D) 82.25

PAPER-4 SERIES-DB

\3

Q51

>

Frequenc

45 -
40
35
30
25
20
15 -
10 -
5 4

fedus & & Jman i3, fAne o
Ulg® 2 AS 38 fow B9 8%, WIg
5 A& B 12% W3 BAC gME 7 AT
Be 15% J| Aag w3 28 Ja § TUA
SUS'G SISt JEh S8 IIH 21,87,850
A, 3T R § 85 © 39 ‘3 yuz I

IIH A

(A)  %95,000

(B) ¥ 85,000

(C) ¥8Lt560

(D) ¥93,000

3t aret wrft ifemrgeing @ e

TIAT IIt J| I T WoES3 Higer
HE U™ 3|

Test Scores

¥ 1 i 1 w

8 < T
445 545 645 745 845 945 1045

Scores
(A) 745
(B) 79.5
(C) 80.75
(D) 82.25



Q52 A is 100% more efficient than B. If (52

Q53

Q54

B can complete a work in 12 days
working alone, then find the number
of days in which A and B can
together finish the work.

(A) 3 days
(B) 6 days
(C) 4/7 days
(D) 4 days

One year ago, a mother was six

times as old as her daughter.
Presently, the age of the mother is
numerically equal to the square of
the age of her daughter. Find the
daughter's present age (in yearé).

(A) 5

B) 4
(C) 25
(D) 16

In a group of shepherds and their
sheep, the total number of heads are
35 and that of legs are 120. The total

number of sheep are:

(A) 25
(B) 10
(C) 20
(D) 30

Q53

Q54

A, B 3 100% =09 99® J1 A B fiad
SH F3fen faR s § 12 feat if9 yar
9 AaT' J, 3t 8 feat € farest usT
a3 faA iRg A W3 B g d sl § yar
g9 AdT IS

(A) 3fes

(B) 6fes

() u/7fes

(D) ufes

i A% ufgst, fig W & GHg wysEt
UBSt & 619 &8 8 I A o AA,
W S 61T AftmmsHa 39 3 GREt
Ugdt ©F @49 € <991 © =59=9 Jl
BT & @I3Hs 6Ha (AT f&9) u3T
CEf

(A) 5
(B) L4
(C) 25
(D) 16

IFIm w3 @Is e 33 T AT
f&g, fagt < o Afgwr 35 I W3 B3°
ot S Aty 120 J1 33T T B Hfemr
&t I?

(A) 25
(B) 10
(C) 20
(D) 30

——'ﬁ
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Q55 A and B together have % 2,310. Q55 A w3 B fosfont 3% 22,310 I&61 A A

Q56

4 2
If 15 of A's amount is equal to 5 of

B's amount, then how much amount

does B have?

(A) 824
(B) 2462
(C) 924
(D) 2624

SECTION - 3 : Mental Ability and

Logical Reasoning

In this question, three statements
have been given followed by two
conclusions numbered I and IL
Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them 10gicalfy and
follow(s)

information given in the statement.

definitely from the
Statement I : All fruits are good.
Statement II : All good is bad.
Statement III : All bad are
vegetables.

Conclusion:

I) All bad are fruits.

II) Some vegetables are good
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

(D)  Neither I nor II follows

PAPER-4 SERIES-DB

o gH T 1%, B & IH < g’ e
gI59 I, 37 B I fdat I I?

(A) ¥ 82u

(B) %L62

(C}: %92k

(D) R e62L

FG1 - 3 : HSTAE HE3™ W3 394 War3T

Q56 fem yis &8, 36 sus’ 3 ame ©

e Aftmr | w3 Hftmr 1| i3 I I3
ferdre 59 w3 fogufss a9 fa 2=
TEarat ©f 399 Has w3 farfaz 39
‘I ysE gIe J|

IES | - A9 28, Tl I

FES || : AT 94T, S5 J

JES Il - 7' €8, AgAM I&|

) AJ =8, S8 Ja|

1)y S ASAM, BT IS

(A) 3w fifer | Use ager J
(B) a=s fier | UsE agT I
(c) TR I3 U T IS

(D) & 3 fAeT | &t 1| USE JIe
9

[21]



Q57 Select the answer figure that can Q357 €9 €33 533 I8 7 I&" i3 A

replace the question mark (?) in the
series given in the problem figure.

Problem Fig.

< | A

A B & D » B

Answer Fig.

>

1 2 3 4
A) 1
B) 2
©€) 3
D) 4

Q58 Select the answer figure that can
replace the question mark (?) in the
. series given in the problem figure.

Problem Fig.

eI

VaAES

A
Answer Fig.

@ D E

Y | AR | NI |
i | 2 3 4
A) 1
B) 2
(C) 3
(D) 4

PAPER-4 SERIES-DB

fo39 R &3 &3t © yms fds (7) &t
= & A
Problem Fig.

< | A

A B & D E

Answer Fig.

B

1 2 3 4
(A) 1
(B). ~ 2
() 3
(D) &4
Q58 ©J €39 533 T8 = It f£3 AHfr
fgzg Re 131 831 © Yy fds () &
g & Ad|
Problem Fig.

kS

Answer Fig.

W

1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &

[22]



Q59 Select the option that can replace the Q59 € feasy OB H 7SS fE?j (?) S g
question mark (?) and complete the & Aaer I w3 &3t fi9zg 8t § uor
given figure series. . g e Il

TEHs] [T
I
T
& .=

PAPER-4 SERIES-DB [23]



Q60 Study the given diagram carefully Q60 f&3 9@ 3Ifeqry © fmrsyg<sa

and answer the question that
follows.
Dancers
20
1 15
9
8 12 10
Married

Educated

What is the number of educated

married dancers?

(A) 9
S ® 11
<© 12
(D) 20
Q61 Arrange the following words in a Q61
meaningful sequence and ' then
. choose the most appropriate
sequence.
1. Preparation for match
% Receive the trophy
3 Toss
< 4 Win
5 Compete
(A) 1,3,5,4,2
(B) 3,1,4,5,2
€y 3,1,5,4,2
(D) 1,5,2,4,3

wma%@ﬁ@aéwwugéa
feg|

Dancers

20

Married Educated

uz-f83  fowd IHAIT  (educated
married dancers) F Afemyr f&t 32

(A) 9
(B) M
(C) 12
(D) 20

&g feenfgs a9 w3 29 A8 3 &<l
3J319 TE|

1. Ao gt

2.  TIEYUS AIST

3. <H

L. 3T

oL HEEHS JdJoT

(A) 1,3,54,2

(BY - 3,1, 4,38, 2
(C) 3,1,5/4,2
(D) 1,52,4,3

_—ﬁ—
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Q62 Which letter will replace the Q62 fI3t Jret &3t 9 UHS 1"9?5 (?) St g

Q64

question mark (?) in the given

series?

(A) D
(B) E
€ F
D G

3 fFTF™ wigg wrdr?

ek FTT L] [PIs[V] [e]7 i
(A) D

(B) E

() F

(D) G

Which letter will replace the Q63 23t Jret 3t feg UHS fa?ds (?) S &

question mark (?) in the given

series? C,I, D, P, E, ?

(A) U
B) V
€) X
D) Y

3 I3 g WreaT?
C.l, DyPFE; ?

(A) U

(B) V

(C) X

(D) Y

Select the number that can replace Q64 € Hftmr T B a3, 1 Jo 3t B

the question mark (?) in the

following series.

1,4,9,16,25,?

(A) 36
B) 35
(C) 30
(D) 26

fég yme s (7) S & 3w Aeet I

1,4, 9,16, 25, ?

(A) 36
(B) 35
(C}) 30
(D) 26

——_———————_—#—_——_—_—
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Q65 A and B start from same point. A (65

Q66

walks 30 m South then turns west
and walks 40 m, then turns to his
left and walks 50 m. At the same
time, B walks 80 m South. Where is
B now with respect to the position

of A?

(A) Bis40 m to the West of A.
(B) B is 50 m to the East of A.
(C) B is 30 mtothe West of A.
(D) B is 40 m to the East of A.

Three different positions of the
same dice are shown below. Which
of the following statements is

necessarily true?

SPEPEE

(A) # and @ are on adjacent
faces.

(B) % and * are on opposite
faces.

(C) % and & are on opposite
faces.

(D) & and $ are on adjacent
faces.

PAPER-4 SERIES-DB

Q66

A3 B i iy 3 T%e 7y 9% I5|
A THE % 30 m T J feg UeH €8
HE & LO m BT I, fag G Uz ¥
HET I W3 50 m B8 J1 BA AX, B

THE % 80 m O&< J| A T AfESt ©
Acgg fEo B oF fag 37

(A) B, AR UEHTES 4O m JI

(B) B, ATYITTHE 50 m Il

(C) B ACRUSHEZ 30 mJI

(D) B ABRYITIHE LOm I

AfESht fexreh I g1 Js 3
Jus & faozr Aget 39 ‘3 At I?

(A)  # W3 @ IJR 28I I&|

(B) % W3 » fe3tt 254 I&|
(C) % w3 & feddl 28 I&|

(D) & W3 $ JITR BF TS|



Q67

Q68

In this question, a statement has Q67

been given followed by two
conclusions numbered 1 and II
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from the

information given in the statements.

Statement: All sharks are fish. No

fish is a whale.

Conclusion :

I: No whale is a shark.

II:  All sharks are whales. |
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows
(D) Neither I nor II follows '

Find the missing term in the Q68

following letter series:

LKJ,  ,DCB,ZYX
(A) HGF
(B) IHG
(C) GHI
(D) GFE

PAPER-4 SERIES-DB

for e <o, e gus 3 sme € e
Hftmy | w3 Hfepr 11 13 918 I IES
o2 fHfont T fodfont ferdae a9 w3
fooufas ad fa @< &9 fagar fie
g feg &3 Ird Aeadl &€ 339
Haz w3 ferfos 39 '3 use J9
J1

IES: AgMiF BTIS, Hemit Ia| 38t &
Hell, 28 ot I

fier .

;I8 S WY, I S I

Ih: A Tgdr, 2 IS

(A) e fifeT | uger gaer J
(B) a=eH fifer Il Uge ager I
(C) w2fHAS I3 I Use aIe IS

(D) & 3 fier | &t Il USer JIer

3
3
WK, R 22X
(A)  HGF
(B) IHG
(C) GHI
(D) GFE



Q69 Select the number that will come Q69 €n Afepr & 9= a9, 1 I 3 B

next in the following series. foudigar () ‘3 wdt
34,18,10,6,4, 34,18, 10,6, 4,

(A O ' (A). ©

B) 1 (B) 1

© 2 (c) 2

D) 3 D) 3

Q70 Select the number that can replace Q70 €g Hftmr 98 = J&@ &3 Bt &
the question mark (?) in the L{H?ng's'; (?) S g & A
. following series.

6, 10,195 35,60, ¢
6, 10, 19, 35, 60, ?

(A) 85 g
| B) 92 bl
© 9% (C) 96
‘ D) 97 (D) 97

PAPER-4 SERIES-DB . (28]



Q71 If the digits in the number Q71 RAIg HfEMr '6L9573281" & wa &

'649573281' are arranged in
ascending order, then how many

digits remain in the same place?

(A) One
(B) Two
(C) Three
(D) Four

<o 9y Ko feerAfgs &3 famr 37
& wig wye 87 AF's ‘3 Ifgsar?

(A) f&q
(B) ©

(c) f3a
(D) T

Q72 Which of the following answer Q72 I féfaw T fagdt €39 igst,

figure completes the series of the

question figure?

+0AX||X+0a||lax+0|[0AX+]|| 2

XO A +
(A)

+0 A X
(B)
‘ A+ O X
©
‘ +AXO
(D)

PAPER-4 SERIES-DB

YAS WGt & &3 § ydt gaet 97

+0AX||X+0A||AX+0||OAX+ ?

XO A +

(A)

+ 0 A X

(B)

A+0OX

(C)

il X QO

(D)



Q73

Q74ﬂ

Q75

Find the missing term in the
following letter series:

bc b cc bc b

(A) Cbbc
(B) Bccb
(C) Bbcc
(D) Ccbb

Sashi and Sakshi are a couple.
Sakshi's sister Sunita is married to
Akash and is the daughter-in-law of
Hema, the mother of Sashi. How is

Hema related to Sakshi?

(A) Sister

(B) Mother-in-law
(C)  Daughter-in-law
(D) Daughter

Study the following arrangement
carefully and answer the question
given below:

‘P x Q” means ‘P is the sister of Q’
‘P - Q’ means ‘P is the mother.of Q’
‘P + Q° means ‘P is the brother of
Q’

‘P + Q” means ‘P is the son of Q’
Which of the following means 'S is
the husband of J'?

(A) JxD-A+S
(B) J-D+AxS
(C) J-D+A=+S
D) J+DxA+S

Q73

Q74

Q75

3
bc.-b-iec. _bc b
(A)  Cbbc

(B) Bccb

(C) Bbcc

(D) Ccbb

A w3 ment g fewrgsr AF I
maH ©F 3 ABI3T T fewg waH
&8 Ifemr I w3 €I A ©F o, IHT T
&9 3 v T A &8 o fgR3T I?

(A) IE

(B) HA

(C) &9

(D) o

&5t I8 393" © fimrs &8 withMis
a3 w3 It i3 yre T g3 fe6:

PxQEWIEI P, QI
‘P-QTWIHIP,QE HI I’
‘P+Q ENWIHI P,QEITIJ
‘P:Q T WIHI P, QT UBI I
Jo ffgni &g famer waE J 'S, J T
ust J'?

(A)
(B)
(C)
(D)

JxD-A+S
J-D+AxS
J-D+A=+S

J+DxA+S

_—————_ﬁ
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SECTION-4 : Language Skills (Punjabi/ English) / 3731-4 : 3THSI € &3 (UaAT=l »iardnh)
Q76 faH HET T At W= WaET at J7?
(A) Personnel
(B)  Personal
(C) Personel

(D) Persona

Q77 Given here are six parts of a sentence. S1 and S6 are the first and the last part,
respectively. The rest of the parts, namely a, b, ¢ and d are jumbled. Select the

option that gives their correct order.
S1: Shakespeare is known as

a. to a black lady

b. and his friend;

c. the bard of avon;

d. his sonnets are addressed

S6: whose source is still unknown to many.

* (A) dcab
(B) abcd
(C) dbea

. (D) bcad

#
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. Q78 Read the following sentence and identify the part that has an error.
A lot of people / in my country /prefers / tea to coffee.

(A) Alotof people

(B) in my country

(C) prefers

(D) teato coffee

Q79 Select the most appropriate SYNONYM of the given word.
SIGNIFICANT
(A) energetic
(B) important
(C) lustful
(D) static
Q80 Choose the correct option which can substitute the highlighted words.

Aamir Khan’s movie, ‘Lagaan’, was a true representation of a system of one
country ruling other countries. The film showcased how the English increased

their influence over the Indiané over a period of time.
(A) Internationalism

(B) Communism

(C) Imperialism

(D) Communalism

;
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Read the following passage carefully and answer the given questions from Q 81 to

Q85

For four days, I walked through the narrow lanes of the old city, enjoying the
romance of being in a city where history still lives - in its cobblestone streets and its
people riding asses, carrying vine leaves and palm as they once did during the time of
Christ. This is Jerusalem, home to the sacred sites of Christianity, Islam and Judaism. This
is the place that houses the church of the Holy Sepulcher, the place where Jesus was

finally laid to rest. This is also the site of Christ's crucifixion, burial and resurrection.

Built by the Roman Emperor Constantine at the site of an earlier temple to
Aphrodite, it is the most venerated Christian shrine in the world. And justifiably so. Here,
within the church, are the last five stations of the cross, the 10th station where Jesus was
strigped of his clothes, the 11th where he was nailed to the cross, the 12th where he died

on the cross, the 13th where the body was removed from the cross, and the 14th, his tomb.

For all this weighty tradition, the approach and entrance to the church is non-devout
Christian pilgrims walking, along the Via-Dolorosa -The Way of Sorrow — the first nine
stations looking clueless. Then a courtyard appears, hemmed in by other buildings and a

way doorway to one side. This leads to a vast area of huge stone architectures.

#
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Immediately inside the entrance is your first stop. It's the stone anointing: this is the
place, according to Greek tradition, where Christ was removed from the cross. The Roman
Catholics, however, believe it to be the spot where Jesus' body was prepared for burial by

1

Joseph.

What happened next? Jesus was buried. He was taken to a place outside the city of
Jerusalem where other graves existed,and there, he was buried in a cave. However, all that
is ldhg gone, destroyed by continued attacks and rebuilding; what remain is the massive -
and impressive - Rotunda (a round building with a dome) that Emperor Constantine built.
Under this, and right in the centre of the Rotunda, is the structure that contains the Holy

Sepulcher.

At the start of the first century, the place was a disused quarry outside the city
walls. According to the gospels, Jesus' crucifixion occurred at a place outside the city
walls with graves nearby...". Archaeélogists have discovered tombs from that era, so the
site }s compatible with the biblical period. The structure at the site is a marble tomb built
over the original burial chamber. It has two rooms, and you enter four at a time into the
first of these, the Chapel of the Angel. Here the angel is supposed to have sat on a stone to
recount Christ's resurrection. A low door made of white marble, partly worn away by
pilgrims' hands, leads to a smaller chamber inside. This is the 'room of the tomb', the place

where Jesus was buried. We entered in single file. On my right was a large marble slab

that covered the original rock bench on which the body of Jesus was laid.

i
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Q81 Find the word in the passage which means 'rebirth'.
(A)  Crucifixion
(B) Hemmed
(C) Massive

(D) Resurrection

Q82 Who built the Holy Sepulcher?
(A)  Julius Caesar
(B) Constantine
(C) Aphrodite

(D) Jesus Christ

Q83 Which structure has sustained even after continual attacks?
(A) Chapel of Angel
(B) Room of Tomb
(C) Rotunda

(D) Dolorosa

——ﬁ
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Q84 According to Roman Catholics who buried Jesus Christ?

(A) Peter
(B) Mathew
(C) Thomas
(D)  Joseph

Q85 Why did the pilgrims enter in a 'single file' in the 'Room of Tomb'?
(A) There was a large marble slab
« (B) It was the original burial chamber
(C) The room was very small

(D) To pray personally

Q86 ‘Mention’ HEE € It Urrst waRTE ot J7

(A) €3
©(B) uIT"

(C) TTBUE

(D) =If63
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Q87 Iz fafimit &3 Ay waT |
(A) U33
(B) u3e
(C) ufss

(D) ufsz

Q88 faA @ 89 fizad dge Wa-8a 7e &' HSU3 HI'T" T8 |
(A) HBE U 83
(B) f837g i< AE Hea'
(C) S8 & AHEE

(D) HJ HEE

Q89 HE & _ =SESt Y, HO'RS § HEHS S|
(A) T<g
(B) SwE
(C) 3d

(D) faust

#
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Q90 ‘A J= & Hoer IR B¢ fod HET TE|

(A) WA
(B) oIS
(c) feees
(D) J1g

3 ged s fmraas U w3 913y 9s3ae g3 el

- Urreit T 7Z 3 737 o Td-A3t J1 Sfogt wilE s for & feg g3t AgresT fiEt
3 farst v dies aF Ay J famr ug UG & Had! & A9 UBaT fegdd €3 © fgew & feg
Ii% €8 It vz i3 I8 AIag 99 Wae © flfawr et 2fenr § feder a9 It I 3 fom

e feg Unrg gt T 3 widt I

08 7 I < 3 imrdt eFs J=9 3, oA ©F @96 @ feg & wiger J1 g, HaE,

28, W9, Yt wife fef Swi Ig uBTEMT 2RSS Ta1 BiIST © WEE T AU, I8, IHE 3
39 07 TegE E@m ZRs o faer = famr 3 3 o 28 fars o WY <09 fegt e few
3

a3 YfiT I51 fovoshEns FIT Urrd @ R AE™Y € EieTe SISOt J5:
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Q91

Q92

Q93

Urirs & AZ 3 imrdt grs faaer fiag 2 feg @ wiger 3, faadt 372

(A) Mt

(B) ImH

(C) o=d

(D) dUg

Urrsing & HE 537 &t 37
(A) dea T ast

(B) uSt-=

(C) T Trast

(D) SUg a3t

for 09 & fAgdy &t 37

(A) TAATS T AL

(B) eI T faed
(C) A= T a3t
(D) A= & oIt
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Q94 Ay feg sfgst Wi € & 33 I57?

(A) fIAS T HAles wiyr
(B) Sudie §3uTa
(C) dHag feg gg=<c

(D) &I THM TAG & IHS

Q95 I3 & Unrsm & feshue3r off I7
(A) WS &S HIgE"
(B) IIIAIGE
() <fesHge

(D) SRS T HI

%
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SECTION-5 :Digital Literacy and g1 - 5 : F3HIES ATHII W3 A9Iga3T

, Awareness
Q96 Which of the following is correct Q96 It fofswi RY fagz™ dfuBca &%
regarding text mode interaction with 2aAc N3 fuseddns © Heg <9
computer? AJT I?
I. Cumbersome . SEIHH
. . . orfer &g iHar
II. Time consuming =

N,  Jged € ggd 939 €9

III. Limited in scope of opefation

HIH3
(A) TandlII b sy
(B) Il andIII B) 1A
(C) TandIII ©) 1w
(D) L, IIand III (D) 1, w3
Q97  scripting is used to create Q97 _  Wguféar & =93 Ffeahd
. dynamic webpages. &g UH ge@c Bd |3t Al I
(A) Web (A) <=° (Web)
(B) Dos : (B) 3 (Dos)
" (C) Cobol (C) IS (Coboi)
(D) VB (D) <= (VB)

/
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Q98 Which of the following is NOT an Q98 ' Jat fafimi & fagzr fa wieue

output device? fgerfon &t 37
(A) Keyboard (A) S=EII
(B)  Projector (8) Yroed
(C) Monitor (c) NAeI
(D) Plotter (D) -Ll—gea-

Q99 You have accidentally deleted a Q99 3t fazgat It ez fHer
slide. With which shortcut key of &3t I MS PowerPoint 2019 <t
MS Power Point 2019 you can get it fagft macde-at &5 3 RS
back? ' TETT YU 3 AdR J7?

(A) Ctl+2Z (A) Ctrl+2Z
(B) Ctrl+B (B) Cul+B
(C) At+2z
© Alt+Z
(D) Alt+B
(D) Alt+B

Q100 In MS Excel 2019, which of the Q100 MS Excel 2019 f&g, Jot fefamr &5
following keystroke is used to select fag3 di-Aead ©f =33 i B &9
the cell above in the same column? SuId Az § AdSC 96 BH CiE]l

el J7
(A) Enter

(A)  Enter
(B) Tab

(B) Tab

(G SHIE+ jeier (C)  shift + Enter

(D)  Shift + Tab (D)  Shift + Tab

/
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Rough work / 9@ €39
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Rough work / 9¢ €dd
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Rough work / 9@ €34
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Rough work / 9@ 39
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Read the following instructions carefully:

J5 Tan gerfest § fims &% ug:

g 18

Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as

these are printed on Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigjlator or

Center Superintendent.

The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.

The candidates are governed by all Ruies and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10. The Candidates are required to submit the Test

Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal

for future references within 24 hours after last shift of

examination is completed.

1.

He 3 a8 a8 ynfie U5 &5 aes g feasy § €33 = a8
g J| i @9 ez i3 I’ €39 § sefenr dt 7 A

@iees § fou wEis SE@E wdter 3 fa €39 Hie yeft & IR
ieee § €39 Hic '3 frus-Gum I & fous &df sargE
gder| @fees § §nHng €39 Fie T fseues A9 3
fomer Ig a3 & wier 35 &89 &di feuer grdier]

gade A faue J=at 7t SAe gad< 3 80 I Is|

faarars argr Hat e 3 Siieee § wuE Ty I98 feurgEr
SEC

fogigs & deg © Audae 3 ferm witmr 32 fa, gt &
Svieeg wiuE Fie/Aiftmr Seg adf 83 AaeT /A |

mgmmmgmmm@@am
f36d foaras § A fast Yifimr I8 3 wrg9 e & wiigmr ot
3

Do/ fedadfsa/ Nows Augdes o 293 996 & Ho'dl Il

Wwﬁs%éméﬁ@ﬁe@ﬁmmm
I93t 593 © A foudt w3 fefawi wits J=dt| wefgs dar 2
S HHIE §3€3T§aséﬁsmﬁm?faﬁsmrw{§ﬂ'aﬁwz®w
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